Here, three different terminal pairs are attached to a circuit.

We want to find which arrangement will extract the most power from the original circuit.

Redraw the circuit by tipping it on its side.

Notice that we are dealing with two distinct circuits here.

They’re attached by a single wire, but currents do not interact between the two.

So the remaining piece of wire has no power available.

Consider the second version.

Redraw it with the resistors in parallel with each other.

This means that the equivalent resistance is ½ Ω.

This circuit is in Norton form.

Use the equation for max power of a Norton equivalent.

[math calculations]

We find that we can get 125 mW from this connection.

Consider circuit C.

At first, it looks different from the other two.

Note that the bottom terminal is part of one entire node at the bottom.

That means that we can shift the terminal connection to the right.

So this circuit is the same as circuit b.

This means that either b or c will extract the maximum power from this circuit.

